Efficiency vs P,

+0.05¢ T
= E : : :
D045+ oereeiee s roseeeeeens e
> E : : :
2 0.04F - eieme e RRRETEES
o E : : :
L S s SERARAREE e
o F : :
0.03F - --ererederermene b e
0.025F -+ g SRR
0.02F--------- * ------------ ERRRTTERS SRSRTEERITY
(0J(0)Ks| EEETEEE' SEECTEIEIEIELE Freneeeneee e
(0)(0)| SEEEEEEREE ARTELEIELELD Freneeeneee e
0.005f -+ evrisremrresnebnee s e
E - . .
o 10f—— AT .......! L .......! L
= o
o] o
¥ L1.05f----q--pq -
15— ----- b 2 A B reremmemene AR
0.955 : : '2 .
10~ 1 10
Hp_ (et
—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap
=0.05
2
>\.045
2
0_,0.04

[

$.035

[
0.025
0.015

0.005

Ratio

Efficiency vs ¢

=0.02
.018F




	Contents
	Page 1


